Biology M.C. Exercise

1. Which of the following produce the heart sounds?

(1) Bicuspid value

(2) Tricuspid value

(3) Semilunar value

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3) 

2. Which of the following are found in the lymph?

(1) Fats

(2) White blood cells

(3) Red blood cells

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

3. Which of the following blood vessel has the lowest concentration of urea?

A. Aorta

B. Vena cava

C. Hepatic artery

D. Renal vein

4. Which of the following is not found in the blood plasma?

A. Protein

B. Glucose

C. Fatty acids

D. Amino acids

5. Which of the following values are closed during diastole?

(1) Bicuspid value

(2) Tricuspid value

(3) Semilunar value

A. (1) only 

B. (3) only

C. (1) and (2) only

D. (1) and (3) only

6. Which of the following methods is the most effective in preventing tooth decay?

A. Avoid sugary food

B. Brush teeth with toothpaste

C. Brush teeth after every meal

D. Visit the dentist half- yearly

7. Which of the following are components of a balanced diet?

(1) Water 

(2) Dietary fibre

(3) Minerals

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

     D. (1), (2) and (3)

8. Which of the following is/ are found in the lacteal?

A. Fats 

B. Fatty acids

C. Glycerol

D. Fatty acid and glycerol

9. Which of the following processes happen in the alimentary canal?

A. Saliva 

B. Gastric juice

C. Bile juice

D. Pancreatic juice

10. Which of the following processes happen in the alimentary canal?

(1) Diffusion

(2) Osmosis 

(3) Active transport

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

     D. (1), (2) and (3)

11. Which of the following maintain the shape of eyeball?

(1) Aqueous humour

(2) Vitreous humour

(3) Sclera

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

12. Through which of the following structure is light refracted the most?

A. Cornea

B. Aqueous humour

C. Lens

D. Vitreous humour

13. Why does the pupil appear black in colour?

A. The pupil contains the black pigment melanin

B. Light entering the eye is totally absorbed

C. C. Pupil is the hole in the center of iris

D. Light can only enter the eyeball through the pupil.

14. Which of the following structures are involved in changing in the thickness of the lens?

(1) Ciliary muscle

(2) Suspensory ligament

(3) Iris

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

15. Which of the following contain(s) light- sensitive cells?

(1) Cornea

(2) Lens

(3) Retina

A. (1) only

B. (3) only

C. (1) and (2) only

D. (2) and (3) only

16. What is the function of the root hairs?

(1) Absorption of water

(2) Gaseous exchange

(3) Anchorage

A. (1) and (2) only 

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

17. Increase in which of the following factors will affect the rate of transpiration?

(1) Light

(2) Relative humidity

(3) Temperature

A. (1) and (2) only

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

18. Mary is of blood group B. She can receive blood from John. But John cannot 

   receive blood from Mary. What is the blood group of John?

A. A

B. B

C. AB

D. O

19. If the leaves of a plant do not have stomata, where does the plant live?

A. In the desert

B. On land 

C. Under water

D. On water surface

20. When a potato strip is immersed in a test tube of distilled water, which of the following will increase?

(1) Length of potato strip

(2) Volume of distilled water

(3) Mass of potato strip

A. (1) and (2) only

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

21 Which of the following process involves active transport?

A. The absorption of oxygen by blood

B. The movement of carbon dioxide into the blood

C. The absorption of glucose in the alimentary canal

D. The absorption of water by a cell in the leaf

22. When a plant cell is placed in a solution with the same water potential as the cell sap, what will be observed?

A. The net movement of water will be zero

B. The cell will absorb water by osmosis

C. The rate of water absorption by osmosis is equal to the rate of water lost by pressure potential

D. The cell will remain turgid

23. Which of the following factors increase the rate of diffusion?

(1) Increasing the temperature

(2) Increasing the surface area for diffusion

(3) Increasing the concentration gradient

A. (1) and (2) only 

B. (1) and (3) only

C. (2) and (3) only

D. (1), (2) and (3)

24. When an animal cell is placed in a concentrated solution, what will happen?

A. The animal cell loses water by osmosis

B. The animal cell gains water by osmosis

C. The animal cell gains water by osmosis

D. There is a net movement of water out of the animal cell by osmosis

25. When a liver cell is placed in water,

A. it will become turgid 

B. it will lose water by osmosis

C. it will absorb water by active transport

D. it will burst.

26. Which of the following statement is incorrect?

A. The amount of energy released in aerobic respiration is greater than that in anaerobic respiration.

B. The amount of energy released in lactic acid 

C. Yeast can carry out both aerobic and anaerobic respiration

D. The products of aerobic respiration are water and carbon dioxide.

27. Which of the following occupies the second largest proportion in the exhaled air?

A. Nitrogen 

B. Carbon dioxide

C. Oxygen

D. Noble gases

28. Which of the following are products of alcoholic fermentation?

(1) Water

(2) Carbon dioxide

(3) Ethanol

A. (1) and (2) only

B. (1) and (3) only

C. (2) and (3) only

D. (1), (2) and (3) 

29. Why do we pant after vigorous exercise?

(1) To remove the extra amount of carbon dioxide produced during vigorous exercise

(2) To absorb more oxygen to repay the oxygen debt

(3) To breathe out more water vapour so as to cool down the body

A. (1) and (2) only

B. (1) and (3) only 

C. (2) and (3) only

D. (1), (2) and (3)

30. Which of the following is/ are the product(s) of lactic acid fermentation?

(1) Lactic acid 

(2) Water 

(3) Carbon dioxide

A. (1) only 

B. (2) only 

C. (1) and (2) only

D. (1) and (3) only

31. Penguin is 

A. a fish

B. a reptile

C. a bird

D. a mammal

32. A pigeon is classified as birds because 

A. it has a backbone

B. it is warm- blooded

C. it has feathers

D. it can fly

33. Fish, frog and snake are vertebrates because

A. they are cold- blooded

B. they have scales

C. they possess a backbone

D. they can move around.

34. The whale is

A. a fish

B. a Reptile

C. an amphibian

D. a mammal

35. Both plant A and plant B have seeds. But they belong to different groups of plants. How can you distinguish them?

A. To see whether they can be eaten

B. To see whether they can produce spores

C. To see the shape of their leaves

D. To see whether they possess flowers

36. Which of the following structure can distinguish a plant cell from an animal cell?

A. The presence of a large central vacuole

B. The presence of chloroplast

C. The presence of cell wall

D. The ability o carry out photosynthesis

37. What do you need to do before shifting from low power objective lens to high power objective lens?

   A. To increase the light intensity

   B. To decrease the light intensity

   C. To move the specimen to the center of field of vision

   D. Nothing needs to be done

38. A cell does not have chloroplast. Is it a plant cell or animal cell?

A. An animal cell

   B. A plant cell

      C. A plant cell without chloroplast

D. Uncertain

39. All cells possess a nucleus except

A. white blood cells

B. red blood cells

C. liver cells

D. nerve cells

40. How can you adjust the light intensity through the specimen?

(1) To raise the position of the condenser

(2) To open the iris diaphragm widely

(3) To adjust the position of the mirror

A. (1) and (2) only

B. (1) and (3) only 

C. (2) and (3) only 

D. (1), (2) and (3)

